Philosophy 244: Homework 6 on Modal Predicate Metalogic

(1) Ex. 14.1, except that there’s a typo. You're supposed to show that {« | OO« € A } can be
extended to a consistent set with the V-property. Hint: Since S contains S4, (0« e A iff Ca € A.

(2) Ex. 14.2. S4.3 is S4 plus O(dpDq)vO(OgDp). A frame is connected iff whenever two worlds
can be seen by one world, at least one of the two can see the other. Hint: By 14.9 it suffices to
show that the frame of the canonical model for S4.3+BF is reflexive, transitive, and connected.
You can take reflexiveness and transitivity for granted; is it connected? (See pp.128-9)

(3) Ex. 14.3.

(4) Explain Prop. 14.9 and its proof in your own words. Explain how it follows from 14.9 and its
corollary 14.10 that S5+BF is complete.
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